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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. What does Clark-Fisher hypothesis spell out? What is the consequence of this very hypothesis? (2 Points)
Clark-Fisher hypothesis tells us that as productivity increases in one sector, labor force moves into another. The consequence of this very hypothesis is the classification of economies into mainly 3 stages of economic activity (Primary, Secondary, and Tertiary).

2. What are some of the challenges that service operation managers face when dealing with low labor intensity services? (2 Points)
Some of the challenges that service operation managers face when dealing with low labor intensity services are as follows:

· Capital decisions

· Technological advances

· Managing demand to avoid peaks and to promote off-peaks

· Scheduling service delivery

3. Briefly explain how “Dependability” is a factor in selecting a specific service company and not another one? (2 Points)
Dependability, referring to how reliable is the service, is an important factor in selecting a specific service. For example, clients chose airline companies that depart on time and produce no significant delay.
4. Explain how “Incremental nature of innovation” is a challenge for service innovation. (2 Points)
Since customers participate in service systems, innovation tends to be evolutionary rather than radical to allow for acceptance.
5. Briefly explain how did “Self-service” evolved through time? (2 Points)
Self-service evolved through time from human contact, to machine assisted and later to electronic service (i.e. internet facilitated).

6. Contrast “Reliability” and “Responsiveness” dimensions of service quality. Provide an example for each of those very dimensions. (2 Points)

While reliability refers to the ability to perform promised service both dependably and accurately, responsiveness refers to the willingness to help customers and to provide prompt service.

Examples of reliability can be: 

· Accuracy of billing

· Arrival of a called Taxi within a promised amount of time
· Access of internet web sites at no time delay

Examples of responsiveness can be:
· Serving complementary drinks on a delayed flight

· Showing professionalism and care in attending guest’s special request

· Promptly coordinate (as the front office department) with maintenance department for repair work needed in guest room. 

Good Luck
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